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Ch. 4.1b Vertical Motion (P rticle Motion) Homework pg. 251-252 #53, 55,56 57,58

_ Vertical Motmn In Exemi%s sswss, use a(t) = maz f'_'i
per second per- secumi as the zm:elﬁraﬁm due to gmvity
(Negle;ct air resxst‘ance.) o
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53 A ban is thrown vesmcally upward from a height of6 feet m |

an. mmal Vﬁk’my t}f 66 ftwt ;wr second How hxgh will the
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55 A balloon, rising vertically with a velocity of 16 feet pgj

- second, releases a sandbag at the mstant :t is 64 feet abo*ve the a (¢ ) -3

: v‘_‘gmund ; S o o
@ How many seemcis aftm its wlaase wﬂi the bag Stmkﬁ ih
s grqﬁnd? R - SR I S, g ]ll
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0= Vb

Ccu et s(% k| se) | zat et = +16t+C

<2 sle) = St H L+ C 54:—/((2)47 /j/ci'*(

4[{“) 3 (, ), Jé SCE) =~/(t +6t 164

\/(:f) :f"S;ZJt /V %Kty S/T"EJ” M&j"’“”"ﬂ u«&n y[ﬁ) =0
/ D= Et I H Y ) vi)= sat414

= -324 4
V(;) e O=-lee ¢ -4) lest)= 520050
6= - I :

1¢=C Z= 2 e " €50y
. - [RONE
v(¢)=—32t+]{ | 2_‘7‘4 "flfg $€ise. | |




2())?’

'_Vemcal Matmﬁ In Exerclses ﬁﬁnss,usea(t) = —9.8 mete 'f
_per second per semnﬂ as the accelémtimx tiue to gravity

. ¢(0)=a&
OF (Neglﬂet air resistance. )

pleg
56 A baseball is thmwa 'a;g frem a ha:ght of 2 meters Wxth /
mmai vel(}cxty of 10 meters per second ﬁeterme |
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57 With what initial velocity must an ijac:t be thmwn apwarf
- (from a height of 2 meters) to. rea::h a mammum i@_@g 0‘
200 matﬁrs? , ’(o) =2 BRIt
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*58. Grand Canyon . N o
The Grand Canyon is 5(¢)=-49¢" + Vt + 800

1800 meters deep at its - 2 |
 deepest point. A rock is (t) = =49 +0¢ t1 800

dropped from therim =0 ¢/\ _ - »)
..abeva this point. Wme (f) - lf'?-é +/¥0 s.é ~7 Qsec/
the h&lghtnftherogkas o = ‘%7'621" / P6O L

~afunction of the time ¢ '
/y in seconds. How lang $494%= /PO
», - will it take the rock to It [FUD
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hit the canyon floor?
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Ch. 4.1b Vértical Motion (Particle Motion)’ Homework pg.251-252 #53, 55,56 57,58

O Vertical Motion In Exercises 53-55, use a(f) = —32 t‘eg
per second per second as the acceleration due to grawty
(Neglect air resistance,)

53. A baII is threwn ve.rnca}ly upward from a hezght of 6 feet W1

ball go?

( ) 55. A balloon, rising vertically with a velocity of 16 feet };-
second, réleases a sandbag at the instant it is 64 feet above th’
ground. .0y
(a) How many seconds after its mlease will the bag strike

ground?

(b) At what velocity will it hit the ground?




q (Neglect air remstance.) "

56. A baseball is thrown upward from a height of 2 meters Wl _‘vﬁ‘
an initial velocity of 10 meters per second. Detemnne its}
maximum height. &

57. With what initial velocity must an object be thrown upward
(from a height of 2 meters) to reach a maxxmum hmght 0,
200 meters? 1

®

« 58. Grand Canyon »

The Grand Canyon is
1800 meters deep at its
deepest point. A rock is
dropped from the rim
above this point. Write
the height of the rock as
a function of the time ¢
in seconds. How long
~will it take the rock to
hit the canyon floor?




